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B 5 ET 303 513 279 234
2 ¥ 292 506 311 195
H P BT 231 507 251 256
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% AE—TH 86 163 77 86
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i &£ —TH 248 630 297 333
#H 4 —TH 286 679 339 340
i 4 =TH 242 611 292 319
iH 4 mTH 298 613 290 323
#H 4 ATH 150 376 183 193
i &£ "TH 331 819 395 424
ESH 58 140 69 7

Rz 4 9 5 4
W B —TH 131 319 151 168
W B=TH 127 252 113 139

il 0 0 0 0
fl & Z 0 0 0 0
£2EE—TH 159 353 173 180
ZEER-TH 59 157 77 80
£ EER=TH 112 315 162 153
£ E EMNTH 272 591 279 312
ZEERATH 238 540 258 282
£ E BEATH 5 14 5 9
I &—TH 278 618 325 293
I B&=TH 212 487 237 250
I B=TH 87 201 102 99
fil S TH 89 193 96 97
fr N HT 89 149 66 83
2 B—TH 1 1 1 0
£ BEBZ-TH 229 428 197 231
X B 174 303 145 158
JIEMX & & 15, 521 35,092 16, 725 18, 367




I oIES

BT T 4 HEHE A O E: £
RHFB=TH 502 1,025 472 553
1 oK BT 255 630 310 320
FHAK —TH 241 510 255 255
h#RK ZTH 166 376 171 205
+ #-—TH 298 680 329 351
+ ¥B=-TH 413 949 446 503
X BM—TH 440 968 480 488
A #BM=-TH 315 737 351 386
X BM=TH 203 389 176 213
ok BT 611 1,362 624 738
b & —TH 237 484 222 262
b HZ=TH 453 1,054 494 560
& =TH 466 1,081 520 561
B & ETH 609 1,477 717 760
+r E-—-TH 260 654 314 340
£ BEZ=TH 171 439 209 230
r EBEZ=TH 208 539 271 268
r EMWmTH 62 146 66 80
fi:h &% BT 233 443 200 243
7 SR BT 277 661 316 345
FEEFE —TH 445 1,037 476 561
FEFE —TH 256 540 267 273
& 15 Br 388 794 380 414
ATz ) 178 399 191 208
L 48 BT 92 197 98 99
th 7 BT 400 949 441 508
= R E 222 490 217 273
BT —TH 266 619 288 331
h R =TH 205 549 258 291
It NHET—TH 275 637 308 329
Lt REBET=TH 228 569 277 292
LtNHET=TH 313 756 355 401
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